N of associated (recoToSim) looper tracks vs dxy

N of associated (recoToSim) tracks vs dxy
(%] 1%} 4] 0
X X . . . . . . . X < L
[=} Q o (5]
g ., g g 8
=10 ° = s
£ s g
=
10° E
10?
10
:All
N
© i . e
1 IHHT H LT L . - . .
e ! ”| |\| m i = THIT IHHIHIFMH{WHWWH “IHHIHHIHIH Lon . .
J H "I‘H K (el i R A :
L R e S )T
I g H I\ IS HE H HS H
<. 4 - - - . -
525 -20-15-10 -5 0 5 10 15 20 25 5’25 20 15-10-5 0 5 10 15 20 25 5-20-15- 10 -5 0 5 10 15 20 25 25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
(%] 1%} 2] 0
x < X x
[=} Q [=] (=)
g g 8 8
[ [} Q
£ s g
E
o
10?
=] o o . MR T . ]
= IWMMM = = : AR Tt =
& ) et K & g et a ﬁ-H'H':H'H 8
0.8 v
st Loty 0.5F 3ot - shgiutsy o4 k"i-t*a‘
OB =g+ DT Pt P ; : : : : ] :
-30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30 -30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


